=

10.

2ArAF I3 BRI EERS 15Y I S B | g wny
RI%F B 55 RISk FLB B E s
bl 50 A 4a PR B O%rs
AT Friag &L 3-2~4-2
B (R4 A £ 40 4)

) ZEfid o R x =2 (RENEFE
(A)EE x JIHVELR (BT x MIFVESR (C)FEE x AV m  (D)FAT x AP

) E 2 =212 " b =012 " ¢ =369 HlHZ ~ b ~ ¢ FEBKAEITNTRSHETE K
(A6 (B)3 (C)27 (D)54

) B =20, 8% 2 =1,-1,00F1 D =(2,0)TEE » Al(ap) =
(A2, -4 B)(—-24) (C)(-12) (D)1,-2)

a -

) B2 =135 ° B =(2-28 M T FNEHE —— b 5

| b [
(A)(4,-4,16) (B)(2,-2.8) (C)3,-3,12) (D)(1,-14)
30 -71 101
) 1751z0[40 81 121 77 {5 Ryfa] ?
50 -91 141

(A0 (B)3 (C)50 (D)150

) CAIZEM=ZME T =(x,2y,-1) * b =(41-2) " ¢ =322 Hand Baic AlzfE
(A)6 (B)7 (C)8 (D)9

) NIV NS & > /NSGRE T ¢ TR AR SN 30 0 H {9 5 [
HERHY 2 fi572 3 - s[RI/ N2aY A H NI EE ?
AHZETH BHAMmZESH (CHEE24 H (D)HHEZ 21 H

X+2y-3z=1

2x—-y+z=3 > HJA,=
X—2y-z=0

DRIV EAEE VAR YAy ]

(A)17 (B)9 (C)10 (D)8

3 1 12 a b
s A~ . B-= 5 4A-3B = I -
) & [5 4} {2 3} = L d} Alarbrerd

(A)24 (B)26 (C)28 (D)30
) AT EFrEE 8 AL 9 ARy &SR « (B BF)

8 H 9 H
SEEE | BRI | SR P | R | S FEE
BEERT 8 9 14 R 5 7 10
kg 9 13 16 MFEH| 10 12 13

i 8 HEL 9 HEVEGHERTEAERE 4 - AIBERER 4 HyRCLa] =& i 2
(A)a, =25 (B)a,; =16 (C)ay=29 (D)a;=19

1



1.

10.

11.

12.

13.

14.

15.

.E@Az{
(- 1,1,0) ~ BOL3.1) ~ C(453)B2e A AT » A~ B~ C BT R

.%m%ﬁﬁﬁﬁ{
CWPETEEE,  Ax—-6y+122-7T=0E1E, : 2x—3y+6z+14=0FFEEE fy °
: %‘Q P(za - 193) A Q(394a - 1) A R(l,O,Z)%%FEﬁEPEE ’ %?Z FT©+25§—3@§ ’

AT AL 0 E 60 4)

kx+2y=1, o
e HOK k= °

BT {8x+ky= I

1
3

? |- :

. EHR =(2,-53) * b =(-1,2,6) ’EU‘Z?—?‘= .

x-3y=-1_(ax+by=3 . ) O
ax—by =1 ﬂl{2x+y:5 FHEERE > Al(ab)=

A3 = °
CZEfelH > B A4(1,2,3) ~ B(1,3,5) ~ C(3,4,3) ~ D(3,k,5) » A& Ag ~ AC ° AD PVAEREAT/NHIRSHS
EE 32 Hk>00 Al k(g °
 Zefirh—BE P(8,1, — 2)FEIH E * x+ 2y + 22+ 1 =0 i IERE A °
a hl G a dl G dl bl G a b1 dl a1X+b1y+C12:d1
i, b, ¢|=-3+]a, d, c|=6-1d, b, c,|=12 v]a, b, d,[=9  Fiax+by+c,z=d, {yfi#
a, b, c, a, d; ¢ d, b, ¢ a, b, d, ax+by+cz=d,
By(xyz)  Hl 2x + 3y +4z= o
) 11 1 -1 0
%}A:L 8 2} »B=0 1 -1|,H]4B= °
-1 0 -1
s ZEM A = EAE RS a = (-1,4,3) © D =(235) ° © =(4,2,-1)
K (axD) T = |
1 0 3 3 21
A‘E“}T‘A: ~ B: ) =+ — = + ) >\ = o
% {2 » J {2 6 J H3(X+4-2B)=X+4  KiFEM X
1 x -1
22 -2 1(=0,H[x= o
3 -2 X

ZEfIH R = (x-2,23) * D =(31-y,1) * € =(3-32z-5 > Ha+2D-3C =(-29,8) °’
K3x+2y+z= °




E2AB 2 EFLIEERF 1LY 2 Rl%

FLk A T
- ~EBEEEI4L5 0 E 404
1. 2. 3. 4. 5. 7. 10.
S HEA I FHR AL 3260 4
1. 2. 3. 4. 5.
6. 7. 8. 9. 10.
11. 12. 13. 14. 15.




A3 2aBRI MEERF1ED D230z EER
FLA& . b AR g5

S NFBPFFA4L o E 404

1. 2. 3. 5.
C A A D A
6. 7. 8. 10.
B D B C C
VHAM DSR4 £ 60 A
1. 2. 3. 4. 5.
7 —2 2x -y 2z+3 =
4 {_3 1} 0 13 (L2)
6. 7. 8. 9. 10.
> (5,19, — 15) 13 ! - 26
5 3
11. 12. 13. 14. 15.
3 0 . 8 6 0 1 17
1 5 -10 4 22 2 o 2




